
PART - B 
( Grammar and Vocabulary ) 

VII. Four alternatives are given for each of the following questions / incomplete 

statements. Only one of them is correct or most appropriate. Choose the correct 

alternative and write the complete answer along with its letter of alphabet : 

   10 × 1 = 10 

27. Don’t smoke in the forest. Fires ................ easily at this time of the year. 

 The appropriate phrasal verb to be used here is  

 (A) pull out (B) run out 

 (C) break out (D) make out. 

28. You aren’t so lucky after all, .....................  

 The appropriate question tag to be used here is  

 (A) aren’t you ? (B) are you ? 

 (C) were you ? (D) weren’t you ? 

29. In 1957, Santos and Vasco da Gama of Rio .................. to put together a 

single team. 

 The correct words to be used here to fill in the blank are 

 (A) were asked (B) is asked 

 (C) are asked (D) was asked. 

30. Yesterday, I saw ..................... one-eyed man crossing .................. road. 

 The correct set of articles to be used here is  

 (A) a,  an (B) a,  the 

 (C) an,  a (D) the,  an. 

31. You must confess your fault to escape being fined. 

 The compound form of this sentence is  

 (A) You must confess your fault or you will be fined. 

 (B) Confessing your fault you can escape fine. 

 (C) To avoid fine you must confess. 

 (D) One who confesses the fault will escape fine. 



 [ Turn over 

32. Della’s beautiful hair made itself a garment for her. 

 The figure of speech used here is 

 (A) Alliteration (B) Personification 

 (C) Metaphor (D) Simile. 

33. Liberty is not a personal affair only, ........................ a social contract. 

 The appropriate conjunction to be used here is  

 (A) but (B) and 

 (C) or (D) because. 

34. She nosed  the car into the traffic. 

 The underlined word in the above sentence is used as 

 (A) Adverb (B) Adjective 

 (C) Noun (D) Verb. 

35. The Ganges is one of the holiest rivers in India. 

 The positive form of the above sentence is  

 (A) No other river is as holy as the Ganges in India. 

 (B) The Ganges is holier than any other river in India. 

 (C) Very few rivers in India are as holy as the Ganges. 

 (D) The Ganges is holier than most other rivers in India. 

36. They conserve the rainfall of the country. 

 The passive form of the above sentence is  

 (A) The rainfall of the country is being conserved by them. 

 (B) The rainfall of the country are conserved by them. 

 (C) The rainfall of the country can be conserved by them. 

 (D) The rainfall of the country is conserved by them. 

VIII. Observe the relationship in the first pair of words and complete the second pair 

accordingly in the following : 4 × 1 = 4 

37. Generous : Generosity ; Victorious : .......................... . 

38. Potent : Powerful ; Gallant : ........................... . 

39. Fortune : Misfortune ; Just : ........................... . 

40. Cattle : Herd ; Sailors : ....................... . 


